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1 ALAR IS SLN TR TS E [ TH1Y Completely Randomized Design 1
Randomized Block Design f5{i-<[5 ?

2. B R HT(ANOVANSE R B A BT s 2

3 SPEEBMET (Linear Regression Model) FEG BI04 & (9/HEGINLE ?

4 Let flx,y) = 2e*” for 0< x < y <o, be the joint p.d.f. of X and Y. Find fi(x) and f,(y),
the marginal p.d.f’s of X and Y, respectively. Are X and Y independent? Why?

SIM(@)=(1-0)7,1 <1, whereM (1) = [ e” f(x)dx  for -h<i<h and h>0 is the

moment-generating function of a random variable X of the continuous type.
a) Show that M'(0)=E[X] and M"(0)=E[X?].
b) Find p and ¢* of the random variable X,
6. ANOVA(R L E M) MANOVA(Z 82 B B /3Ty ) s EL 7RI 7
7.7EE1T MANOVA Iy, BT FET 15T — e (R ) 43 B3 T
ANOVA » [T E#EFT MANOVA ? ) .
8 B AARE(Multicollinearity)Z AL ? T2 $ B EEF 4 (Multiple Regression
Analysisy 5 HEREE ?
9. AF T (Factor Analysis)H A3 E 22 [E] K] #4(Common Factor)8k B ? S5
TG Ry S AR TE [F]IX 3 (Common Factor)di E #1775 -
10.FHIH B ERHEAE HRER IR E (Hypothesis Test):Z #8102 J1(Power of Test)i B3 «
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C BEEAH ERERT UL RSB EA 7 BT ? (104)

« 23EEF (public good ) SEIATEE (common resources) ERAANEES 7 WSk
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™~ @B FaS (Adaptive Expectation ) #2324 7847 (Rational Expectation }
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B HURHIER 2 EEH (Non-Perfectly-Competitive Firm ) 32400 84 »
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